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fer =T 11 9 fasford & | o 9,
T fqum el & AT BT SR 0 AT
113 a9 BT | 87eT:
1+9+0+1)—(7+x+9+y)
=031 11 % favrsy

=11 -(16+x+y)=01 119
favrsar

=(7+x) T8 AN 1197 Qi i
BT |

42.

42.

43.

43.

44.

= (7+x=11

= x=(11-7)

= x=4
(5x—8y)=(5x4-8x2)
=(20-16)=4

x @ frg A9 & forg | et awm
8439x53, &1 99 9 favreg & ?

A) 3 (B) 4

©) 6 (D) 9
T T 7. ¥ 5. (dad-1)
13-06-2019 ( f&<a aren)

(B) ST 8439x53, 99 | faWy ¥
I & AT 11 720 9 =M1 3 fasrsa
B |
B S &, 9 ¥ a9y 89 & forw
SRS & 37T BT AT 9 3 FI9TST BT
ey |
T (8+4+3+9+x+5+3),9
I fawrsy &,
=(32+x)¥, 32% Fwecaq 99
fawTr vem 36 71
s 32+x =36
=x =(36-32)=4
ITT: T 8439453 BN |
113 fawrsy 89 & oty e & &+
Tq fI5H I & DT & ARTHS B
AR 0471 11 BT =Y |
A (8+3+4+3)—(4+9+5)
= (18-18)=0
ITT: T 8439453, 99 ¥ TSy
T

TG b qUTTeh 1 BT 7 ) FAHTRT febam v
T, AT 3T B 1A 6n BT 7 fAwird
o e &, 9 99 T o ?

(A) 0 (B) 4

©) 2 (D) 1
.o ). o ed. (Fae-1)
19-6-2019 (TR Tl

(B) n @I 7 W & OR, }UHAA = 3
HMET 7B 7 AT &9 IR HARTHA

=9

q9,n =7q +3

so6n =6(7q +3)
=(42qg +14)+4
=7(6g +2)+4

d: T 6n W 7 N 7 W
AYHA 4 T
TS | 1-37HT TEAT 5y 5884805x6, T 72
J g &, @ y/xy &1 AE E—
A 7 (B) 7

© 3 (D) 2¢7
T T 7. SN . (dad-1)
10-06-2019 (2 TTell)

T | 5



44. (B) 11 *1rg \&m
5y 5884805x6, 72 W fa Ty ¥
31 TS =T 8 3R 9% ey fywrsy
BT T1RY |
8 3 faTey B & fory e & sifos
I & 8 W fawrey B =y |
c: x=17
9% fawifca 89 & fow w= &
9 STl BT AT 9 W faHIiTa B
My |

(5+y+5+8+8+4+8+0+5+
7+6)

=(56+y)
IT: (56 +y) B Fwean 99 fawrsy
AT = 63
5 56+y=63
3 y=7
Vx =17 =17
45. If 8-31d o WA 2074x 4y2, 88 A
g &, a1 (4x +3y) I AF &
(A) 36 (B) 49
(C) 45 (D) 42
1. 50.gd. (I9Ue oaa) (daa-1)
06-06-2019 (92 9Tl
45. (C) =1 BT 88 ¥ faHIfoTa 8 & forg 8
9 11 M & a2 2|
d: 8 ¥ fawIford & & fory eifim
3 37T P T 8 IOT WISy B |
S 4289 T A ¥,
a9 y=3a17
11 ¥ A9 B9 & fo1g fass afat
el B AN W | el &
INT BT S TR 0T 11 U] BRTT |
A (2+4+4+0)—(y+x+7+2)
=037 11
x+ty—1=099 y=3
x+3-1=0 x=-2
AT y=TH W x=-6
3d: x =09, y=3
4x+3y=4x9+3x3=36+9=
45
46. If ©F STHT BT T 15x1)2, T 449
s & A (x + ) SRIER BAT—
(A) 8 B) 6
€) 7 (D) 9
TH T 7. ST, 10-6-2019
(f&<ira arett)
46. (C) AT 15x1y2 44 | fawiforg &,
T I8 4 9 11 <M1 9 fawiiora
BT |

6 | AGRAWAL =XAMCART

4 fyvroadr B9 & fow e &
S T &1 4 ¥ faioTa B TRy |
] y=3
11 ¥ favrsgar & ol aen & |99
T4 fayq T & 87l BT SAR 0 AT
119 fa9rs 291 =g |
[1+x+3)—(5+1+2)]=031 11
[(1+x+3)—8]=03T 11
=(@4+x)-8=0
—4+x=0 =>x=4
L) =@+3)=7

47. IS 10-31HT TH G 67127y76x2, 88

| s &, @ (Tx - 2) BT A &

A 3 B) 5
(C) 10 (D) 7
TR, A ST, 7-6-2019

(Feira arent)
47. (D) 67127y 76x2 %1 88 ¥ fawoy §—
7 e wwen 8 e 11 % f gofa:
fa9rsg Bl |
8 3 favTod B o To1g =t & offed
W o1 8 & favreg 8 =1fev |
x=3
11 fasrss 89 & forg e & |H
19 fawH A1 & 37l B TINT BT 37
(0) 31 11 & fawreg 8 |
=(6+1+7+7+3)
—(7+2+y+6+2)
=031 11
= (6+1+7+7+3)—(17+y)
= (24-17-y)=0

= 7-y=0
y=17
S(Tx=29)=Bx7-2x7)
=21-14)=7

48. x & T M & forv 9@ Sfdh |,
5656x52, T 72 9 favrsg §°

(A) 4 (B) 7

©) 5 (D) 8
.09 . A ST, 12-6-2019
(qeira aredt)

48. (B) =T 5656 x 52, 72 ¥ favsy &1
P 72 =8x 9 T T2 § AR 9 ¥
9 qof fwrsa &
8 W favrsy BW & forg wwm &
i~ 3 37 x52, 8 9 UT fawrd
B 11T |
d:x =7
AR 9 ¥ fawrsg 8 & fow |
@ 37T BT AN 9 ot fasrsy B
1Y |

5+6+5 +6+x +5+2
=(x +29)
= (x +29) =36=x = (36— 29)

= x=7
49. I X TN Y U T&T 347XY & QT 8
9 UPR ¢ b | 80 9 uia: fywnfor
BV WX+ YD AT RS ?
A2 (B) 4
©) 6 (D) 8
[SSC CGL e, 05-08-2017 (92 uTedt)]
49. (A) 9f 80=10x 8
TS 347 XY, 10 fasfSr B | 8re:
Y =032rTI
319 Ff 347 X 0, 8 31 fawnfore erf |
i arfe 09 36 7 X 0,89
i 811 era: X =2 91 6 ¥&EH
W,
gfg X = 2, F&I1 34720 ST 80 ¥
Wﬁﬂmﬁ%l
T A X = 6, AT 34760 T 80
9 quid: fawfora & Bri 51
qd: X+Y=2+0=2
50. 7251 @1 66 I fTavRIa &= TR 9T B
qrell YIThel T & ?
(A) 110 (B) 109
(C) 111 (D) 112
[SSC CGL Uyet, 06-08-2017 (W Trel )]
50. (B) TR, 9T & W,
66) 7251 (109
66

51
594

57

. 3T 9ATHS = 109
51. 99 6910 &1 81 g1 fawfora famam <man
¥, I9 SrafeTSe o7 BT & ?
(A) 25 (B) 23
(€) 21 (D) 19
[SSC CGL utet, 06-08-2017 (e uretl )]
51. (A) TR, 6910 BT 81 I fawrora
PR TR Y] I = 25
[ 6910 =81 x 85 +25]
52. 121 1346 T & ¢ fora & forg

TP TISURISCR B geH] Bl faba il IR SqRIT
e ?

(A) 3675 (B) 4018

(C) 4021 (D) 4025

[SSC CGL u¥et, 09-08-2017 (e uTett)
52. (D) UEAER, 1219 999 T I 3T
=999 121 +1=2879



T 1000 § 1346 TF AR DT
= 1346 — 1000 + 1 =347
37: 3HISe A
=879 x 3 +347 x 4
=2637 + 1388 = 4025
53. 3798l 1 U QI UfeRy H 39 YR T
T % 1 i o 1 T U &
R I 81 TP PR 139 g& I g
H 20 9HUE oM B | SifT g4 Ib Uga
¥ g8 fd1 T9g (Vpvs H) 3R o ?
(A) 36 (B) 40
(C) 57 (D) 60
[SSC CGL U¥et, 11-08-2017 (T ureit))
53. (B) Y¥IEIR, BR gRI 134 J&T TP
gam A T 9 = 20 YU
T4 PR §RT 3~ g& T Yga 4
SUIRGER

MC RO

54. I 56M4, 119 gui: o 2 &, o
M &I AH 1 ?

(A) 0 ®B) 1
(€) 3 (D) 5
[SSC CGL 9R¥e, 12-08-2017 (M 9Tell )]
54. (D) Y¥INIR,
S+M=6+4
= M=10-5
M=5

55. fy=fafaa & & o1 of &t @1 s
3 & B AHAT & ?
(A) 4 (B) 6
©) 8 D)9
[SSC CGL wte, 12-08-2017 (fg<ia uret)|
55. (C) 2,3,79 8 fo 01 qui 97f & gaprs
3 e & Fad |
56. 300% 700 T VT faperT1 g & S 2,
3 qerr 79 famferg e & ?
(A) 7 (B) 8
©) 9 (D) 10
[SSC CGL uye, 12-08-2017 (FIrg Uret )|
56. (C) YRR, 2,3Td 71 AH. =42
TG, 1| 700 9% 42 9 fawmsa
el W W = 16
42)700 (16
42

280
252
28

qerm 19 299 9% 42 9 faursy
TR BT T = 7

42)299 (7
294

5

I e IR =16—-7=9
57. 9991 x 10009 & AF FAT T ?

(A) 99999099  (B) 99999819
(C) 99999919 (D) 99999019

[SSC CGL wie, 17-08-2017 (&<t urel )|
57. (C)  YEAIGER, 9991 x 10009
= (10000 — 9) x (10000 + 9)
= (10000)2 — (9)2
4% (a + b)(a — b) = a® — b2
= 1000000000 — 81
=99999919
58. 4131 H - YATH A=A BT ST
S =Ry, if @ XM 19 | R AvE
3 fowfera & ?
(A) 10 (B) 11
(€) 9 (D) 12
[SSC CGL utet, 17-08-2017 (e uret )|
58. (B) WAGER, 4131 31 19 | 9FT &A

T,
19) 4131 (217

38

33

19

141

13

8

3 IIHA =8
g 8+11 =19
T 4131 H HH-H-FH 11 ST ST
=feT A1fb a8 19| T aRe fasford
B

59. 4 3(pl Bl T T H&A, S 939 I

e g e 8, R ?
(A) 9961 (B) 9971
(C) 9981 (D) 9951

[SSC CGL wte, 18-08-2017 (fa<ira urel )|
59. (D) YR, IR 3@ B T T
AT = 9999
T, 9999 BN 93 | AT FRA WX
ITHA= 48
TG, AR STh] B T TSI AT S
93 3 fafTa Bl ©
=9999 — 48
=9951
60. SIF 2143 BI 38 ¥ A fvar <mg,
WRTHS T | AT BT ?
(A) 56 (B) 55
(C) 57 (D) 54
[SSC CGL utet, 18-08-2017 (e uTetl )|

60. (A) 9T 39 TR, 38) 2143 (56
190
243
228
15
... 39 HITHA = 56

61. 3401 9 P-4 RN TS ST

gr@v,mﬁ?agwﬁr 11 % gofa: favrsa

?

(A) 3 (B) 1

(€) 2 (D) 0
[SSC CGL utet, 19-08-2017 (e uret )|
61. (C) TR, 9T & |,

11) 3401 (309
33

101
99

2

T THS = 2
2. 3401 -2 =3399, S 119 U
a1
62. TE gATH FT DH-W T, Ry 213 7
SIS T OR YT ART 9 3 41 avE fasiora
B 9IRRT ?
(A)3 (B) 2
© 1 (D) 4
[SSC CGL e, 20-08-2017 (W uTedt)]
62. (A) TR, fdded (A) 4,
213 +3=216
31d: 216, 9 & gUTa: fawrey |
63. 3299 DF-H FTH AT DI TSI ST
=ifey, arfe T 7 | gofa: R & ?
(A)1 (B) 0
©) 2 (D)3
[SSC CGL e, 21-08-2017 (W2 uTelt )]

63. (B) TRAIGNIR, 9T < T,
7)329 (47
28
49
49

X

I¥IC H¥=AT = 0
64. T 2468 1 37 R fawfora faman <man
¥, q9 Srafiree o7 B g ?
(A) 26 (B) 36
(C) 18 (D) 14
[SSC CGL utet, 21-08-2017 (e uretl )|
64. (A) TEFER, 9T S W,
37) 2468 (66
222
248
222

26
T IYHeT (IARTE) = 26

T | 7



65. A 3(dI 2, 3, 8, 7, 5 B BT TP IR
SRR BB 125 3 fafora B arelt fba=r
ATy fordl ST Hepell & ?

(A) 4 (B) S

©) 6 D)7
[SSC CGL e, 04-09-2016 (&< areit))

65. (A) UTT STl Tell =T, 125 ¥ fawrsy
B, afe erfeaqw 99 ek, 1259
TSy B | oreT: gEIfae <ifeas O
3T 375 AR 875 BT |
5 3PS XA TAT 7 <8 XA W
T ITfRY 3R bl ¥ TR 3 AT
8 H 3 TP B |
3T A TEAINT THR Bl
=21x 2!
=2x2
=4
I A=A 23875, 32875, 28375,
82375%|

66. 1P 4 9T 9 IR 3 O &A1 & | 20 Bl

4 9N S O% T 9N BT P

(A) 1 B) 2

©) 3 D) 6
[SSC CGL e, 02-09-2016 (&< areit))

66. (B) @rw(%) ~ 39y
n =717
o = 14
SEIR

8 | AGRAWAL =XAMCART

67. TE TSN TSI AT ST BITY, 1 390, 495

3R 300 BT YT BIS I9%e BIS Ao
FRAT B |

(A) 5 (B) 15

(C) 25 (D) 35

[SSC CGL u¥tett, 01-09-2016 (FIrg urel )|
67. (B) 390=15x 13 x 2
300=15x5x%4
495=15x11x3
37: 31ISe Hw=T
=390, 300, 495 HT AT =15
68. TH A & I FB RT3 B T
& 1l T SR e & RRT & et ae
50 % SR AT va R @ W A ww=n
142°%, 1 1 &1 =T fhae & ?
(A) 21 (B) 25

(©) 27 (D) 29

[SSC CGL u¥tett, 01-09-2016 (FIrg Urel )|
68. (A) B MU 2, 1 T & 4 IR BT B
g 1 M F 2 WA E
e |, 50 SHaR & IR b1 ¥, = 142
| TR S IR B G, = 142 _o .84

- 50
fysqor fafey @,
gl T
2 4
\2'84/ =29 (ﬂ"rﬁ)
VRN
1-16 - 0-84

69. 2,5,0,6,8 3T & ST Ul SbIT FRT TSI
BT ? (3FT o TARIGRT AT T8 8)
(A) 69,552 (B) 65,925
(C) 65,952 (D) 63,952

[SSC CGL T, 29-08-2016 (W Urel )]

69. (C) Urd (bl Bl ISl A=A = 86520

T 37eh] Bl BIE G=IT =—205 6 8
65952

70. TF B: G & Th A o &
& ARG HReb TR T &, SITERVT B
forg, 6256 1 8678 2MfS | 30 ©T N B

ot e e favrsy el —
(A) T 79 (B) »aat 119
(C) @91 13 (D) 10019

[SSC CGL Exam. 27.02.2000 (Ist Sitting)]

70. (D) =01 ®I 1 YHR foran 11 e
3
100000x + 10000y + 1000z + 100x
+ 10y +z
=100100x + 10010y + 1001z
=1001 (100x + 10y + z)
- 1001 U U @S &, SAfTT |1
1001 ¥ fa9=a 21T |
7 x 11 x 13 =1001
ST | 1001 ¥ AW & I8
e 7, 11 8RR 13 9 fawrsg &R
Fifp T TG 1001 H oES & |
aa
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1. 98 fdoeg &1 999 &, S QU 7Y Sresy
T I Bl I A A SR B & o
P H 9 SRl TR H faEE I B
1. Interchangeable
2. Independent
3. Intentional
4. Interesting
5. Interactive
(A)3,5,2,4,1
B)2,3,5,1,4
O 1,2,3,4,5
D)2,5,1,4,3
[CGL Tier-1, 24-08-2021 (fz d1.)]

. (B) QT 7Y ¥ral @1 SRl TR H
FaRerd BT TW—
2. Independent
3. Intentional
5. Interactive
1. Interchangeable
. Interesting
Ans. (B)2,3,5,1,4

. T8I fawed &1 T B, W AT TV vreaT
Pl I BT A HH | SR Far & R
HHH T RN eI H R <
1. Topology
2. Topper
3. Tolerance
4. Together
5. Tomorrow
(A)4,3,5,1,2
(B)4,2,3,1,5
(©)4,5,3,1,2
D)4,2,1,5,3

[CGL Tier-I, 24-08-2021 (9.41.)]
2. (A) lRT 77 o1sa1 B RIS TR B
IR FaRYT FRA W—

. Together
. Tolerance

4
3
5. Tomorrow
1. Topology
2

. Topper
Ans. (A)4,3,5,1,2

3. 98 fdey &l T &Y, i f&T U vreay

P AR DT ST BH H SR BRaT & RoTT

PH A T 3PN a7 s I7
1. Sensational

2. Sensitize

3. Sentiment

4. September

5. Sentence
(A)5,3,2,1,4 B)1,2,5,3,4
©)5,1,2,4,3 (D)2, 1,5,3,4

[CGL Tier-I, 23-08-2021 (9.91.)]

. (B) QU TV wrea] 1 S TeabiRT B

TR FART XA TR—
1. Sensational

2. Sensitize

5. Sentence

3. Sentiment

4. September

Ans.(B) 1,2,5,3,4

. 8 fdbeq &l =T &Y, O 2T v vreay

T TR I I B A I B © Ford
HH A T 3FON weaHe H fawrs I
1. Sinuous

2. Solemnity

3. Singular

4. Solvable

5. Sorting

(A)1,3,2,5,4 (B)3,1,2,4,5
(©)1,3,2,4,5 (D)3,2,1,5,4

[CGL Tier-1, 23-08-2021 (fz 11.)]

. (B) QU TV wrea] 1 S TeabRT B

STAR AR PR TR—
3. Singular

1. Sinuous

2. Solemnity

4. Solvable

5. Sorting

Ans. (B)3,1,2,4,5

. T8 fqded &1 TIT By, S QU Y wrea)

& T P I B A SR B & o
FH A T 3TN PRI H I A
1. Cardinal

2. Cartography

3. Cardiac

3o GUIHTAT YRIT0T

4. Carrot

5. Callous

6. Careless

(A)5,3,1,4,6,2 (B)5,3,1,6,2,4

(©)5,3,1,6,4,2 (D)5,1,3,6,4,2
[CGL Tier-I, 23-08-2021 (g .491.)]

5. (C) 3FISI YEDRT & IMTAR TGEI P

AR B TR—

5. Callous

3. Cardiac

1. Cardinal

6. Careless

4. Carrot

2. Cartography

Ans. (C)5,3,1,6,4,2

6. T8 fadeT &1 T B, S QU T wrea)

T AT BT S FHH A SR e & o

FH A T SFON TreEdrT H fawErE 79§

1. Sorting

2. Solitary

3. Solution

4. Sophisticate

5. Solvent

(A)2,5,3,4,1 B)2,3,1,4,5

©)2,4,1,3,5 (D)2,3,5,4,1
[CGL Tier-I, 16-08-2021 (9.91.)]

. (D) faU U TE&T D1 SFH TeRdeT |

T & PH H AR PR TR—
Solitary

Solution

Solvent

Sophisticate

Sorting

Ans. (D) 2,3,5,4,1

P e RN

. 8 fdey o1 T B, S Qv T el

T RN I I B A ST HRa & or

HH H 9 IS TR H s I

1. Umbilical

2. Urgent

3. Unaltered

4. Umbrella

5. Unanimous

(A)1,4,2,3,5 B)4,1,3,5,2

(©)4,1,5,3,2 D) 1,4,3,5,2
[CGL Tier-1, 16-08-2021 (fz =1.)]

qaeIfe | 1



7. (D) f&T T Trea] BI 3T LD H
M & HH H AR A TR—

1. Umbilical

4. Umbrella

3. Unaltered

5. Unanimous

2. Urgent

Ans.(D) 1,4,3,5,2

8. 98 fadey &1 Tu= &Y, o U v vrea]

&Y I BT S HH H SR TR & o
P IS g He H s o ¥
1. Freeze
2. Freedom
3. Fryer
4. Frozen
5. Fraud
6. Fringe
(A)5,1,2,6,4,3 (B)5,6,2,1,4,3
(©)5,2,1,6,3,4 (D)5,2,1,6,4,3
[CGL Tier-1, 13-08-2021 (9.91.)]
. (D) f3T 77 wrea] o1 S o9 A @afkerd
BT 1 T SISl TeIde |
g <1 B—
5. Fraud
2. Freedom
1. Freeze
6. Fringe
4. Frozen
3. Fryer
Ans. (D)5,2,1,6,4,3
. & fade &1 99 B o f3T 719 ereal o
ey B I FHH H ST wRar & o
P H g IS E D A s I
1. Protest

2. Palindrome
3. Probability

4. Pathetic
5. Parking
(A)2,1,3,4,5 B)2,5,1,4,3
©)2,5,4,3,1 D)2,4,5,3,1

[CGL Tier-1, 13-08-2021 (fg 41.)]

9. (C) T IV sl &1 S FH A FaRerd

BT 1 T S TeEde |
g <11 B—

2. Palindrome

5. Parking

4. Pathetic

3. Probability

1. Protest

Ans. (C)2,5,4,3,1

AGRAWAL =XAMCART

10.

10.

11.

T8 fadwed &1 999 I, S faY Y ereal
T AT BT I B 3 S BRaT & Tord
B H I RN Teade ¥ fawE <
1. Terminal

2. Terminology

3. Temperature

4, Tamarind

5. Tame

6. Tertiary

(A)4,5,3,2,1,6 (B)4,5,1,3,2,6
(©)4,5,3,1,6,2 (D)4,5,3,1,2,6

[CGL Tier-I, 13-08-2021 (g.41.)]

(D) &Y T <&} BT SRS =D H
3 & P H FART PR TR—
4. Tamarind
5. Tame
3. Temperature
1. Terminal
2. Terminology
6. Tertiary

3rq: eI fawea (D) 4, 5,3, 1,2,6
Bl
FrfeRad weal @ 99 $F H aRed
B O T SN IEEHIN H I E |
Gemlike
Geminate

Gemmier
Geminal

M.

. Gemini

(A) 4,3,2,1,5
B) 3,5,4,1,2
) 4,52,1,3
D) 4,2,5, 1,3

s

[¥1 311 3 OieT.~19, (W.T1.) 04-03-2020]

11.

12.

(D) STIST IEDY B MR WG] B

HH § AR FRA TR
Geminal — Geminate — Gemini
— Gemlike
J
Gemmier
3 fdwey (D) w8 T
FefaRad Treal o1 99 o9 9 FaRkerd
Y, O T IS TEHIY H I B
1. Rightly 2. Rigidly
3. Righteous 4. Rigour
5. Rights
(A) 3,1,5,2,4 (B) 3,1,5,4,2
) 3,5, 1,42 (D) 1,3,5,2,4

[¥1 371 3 O¥ie . ~19, (W.91.) 03-03-2020]

12. (A) AR, QU Y 3ea1 B1 SRen

YARHR B JFAR PH A IR
PRA W

Righteous, Rightly, Rights,
Rigidly, Rigour

q: famed (A) T& B
13. Aft FfRed wreal 1 3O TR
A TP PH B AR FaRed b Sy
a1 Ffied # & DH-1 T TgHH
A RIS |
1.  Isomer
2. Isoline
3. Isotope
4. Isolate
5. Isologs
6. Isonomy
(A) Isoline (B) Isolate
(C) Isomer (D) Isologs

[ .11 3 9¥en.—19, (J.41.) 03-03-2020]

13. (D)

AT P ARDN B AR P
TN R,

Isomer — 4

Isoline — 2

Isotope — 6

Isolate — 1

Isologs — 3

Isonomy — 5

o fawey (D) W& T Isologs
AR I TR SR |

14. Fr=faRaa wea] @1 99 o9 § aRked

=,
1
2.
3.
4.
5.
(A)
(B)

©
D)

SR 9 SISl WEPRT H I ¢ |
Temper

Temple

Tamarind

Tender

Tenacity

3,2,1,4,5

1,3,2,5,4

3,1,2,5,4

3,1,5,4,2

[¥.311 3 w¥ien.—~19, (fgd1.) 07-03-2020]

14. (C)

fv gu oIl @1 S wEEE B
AR PH H FARYT PR W
Tamarind — Temper — Temple
— Tenacity — Tender

3 fadweg (C) 98 Bl

15. fF=feRad oIsa] @ 99 %9 § gaRkerd
B O T IS TSP H I B

1.
2.
3.

Realistic
Realism
Restore



4. Research
5. Resurge
(A) 1,2,4,3,5
B) 2,1,3,4,3
©) 2,1,3,4,5
D) 2,1,4,3,5
[AFR Y19, (9.41.) 09-03-2020]
15. (D) & T veaT B RS AP B
AR PH H FaART PR W
Realism — Realistic — Research
— Restore — Resurge

rq: fawed (D) W&l B
16. fr=IfrRad 21T BT eEeIT S alel
P B ATAR ford—
2. Flintlock
4. Flintlocks

1. Flinching
3. Flinpites
5. Flinchers
(A) 15243 (B) 51243
(C) 51324 (D) 51342
[SSC CGL utett, 08-08-2017 (f&<ira uret))
16. (C) YTTIJHR, W=D B AIAR Al
%1 ¥ fTad B—
5 — Flinchers
1 — Flinching
3 — Flinpites
2 — Flintlock
4 — Flintlocks
17. FrfeRad wreal Bl Tregdrer o7 dTel
P B ATAR ford—
1. Dillydallying 2. Dillydallied

3. Dillydally 4. Dilled
5. Dillydallies

(A) 42351 (B) 42531
(C) 45312 (D) 45321

[SSC CGL T, 10-08-2017 (&< qreit)]
17. (B) RS & 3IAR AT Y erea
P fad B—
Dilled — Dillydallied— Dillydallies
4 2 5
— Dillydally — Dillydallying
3 1
18. fR=IfRad 21l P1 egeIeT # o arel
P B ATAR ford—
1. Cadartrally 2. Caddisflies
3. Caducities 4. Caddisworms
5. Cadetships
(A) 12453 (B) 12534
(C) 21345 (D) 45213

[SSC CGL wte, 12-08-2017 (fg<i urei)|

18. (A) YTIJHR =PRI & IFAR a7 1Y
TeRT P AT HH T v
Cadartrally — Caddisfiles —

1 2
Caddisworms — Cadetships
4 5
— Caducities
3
19. TF A faan 1 8, o v 9 g«
B ey U faoedl & 98 W fdeed g,
S STIHH PN IR PN UKD & AR |
?, Lifelike, Lifeline, Lifelong
(A) Lifeless (B) Lifespan
(C) Lifelost (D) Lifework
[SSC CGL Tyet, 21-08-2017 (W2 uTeit)]

19. (A) TE] Bl IEPRT & AFAR AU

o fad o
Lifeless — Lifelike — Lifeline
— Lifelong
20. FrfAReR Sea] & wsaerRT 7 U 70 34

P AR fARaw |
1. Fraudulent 2. Fraught
3. Fraternity 4. Franchise
5. Frantic
(A) 5,4,1,2,3 (B)4,5,3,1,2
(©) 4,3,5,1,2 (D) 3,4,5,2,1

[SSC CGL uyet, 04-09-2016 (92 Trell )]
20.(B) IEDHRT B AR HH—
Franchise, Frantic, Fraternity,
Fraudulent T2 Fraught 27 |
T 4, 5,3, 1,2
21. FfeRed weal 1 ereaerT 7 faw T8 8
% IgaR fafag ?
1. Incompatible, 2. Incomparable,
3. Incongruous, 4. Inconsistent
(A) 2,1,4,3 (B) 3,4,2,1
©) 4,2,1,3 D) 2,1,3,4
[SSC CGL T, 03-09-2016 (I dTedl )]
21. (D) T[T DT RPN G HH H AR

T TR—
Incomparable, Incompatible,
2 1
Incongrous, Inconsistent
3 4

22, HfeRad fdedl 4 9 oF-w1 v
TGP H TR T T R ?
(A) Immutable
(C) Imperative (D) Impassioned
[SSC CGL utett, 30-08-2016 (Fig Urel )]

(B) Immigrate

22. (D) STIST YEDHRT BT HH—

(B) Immigrate ... (1)
(A) Immutable ... (i1)
(D) Impassioned ....(ii1)
(C) Imperative ..(1v)
I AR ¥ YR impassioned
3T
23. fr=faRed sl @1 wreadRT 7 T T 37
P AR fARaT |

1. Weather, 2. Weasand, 3. Wealth,
4. Weapon, 5. Weekend

(A) 3,2,4 1,5  (B)3,2,1,4,5
(C) 33 45 23 15 5 (D) 35 4, 15 2, 5

[SSC CGL 9tet, 29-08-2016 (I e )]
23. (C) (3) Wealth

(4) Weapon

(2) Weasand

(1) Weather

(5) Weekend

24. FrfeRed T B e § T T 54

& AR forRau—
(1) Forest (2) Fascinating
(3) Fantastic (4) Fabulous
(A)2 431 B)4231
4321 MD)2341

[SSC CGL utet, 28-08-2016 (Jeirg °redl )]
24. (C) STUIST WD BT HH—
(4) Fabulous
(3) Fantastic
(2) Fascinating
(1) Forest
25. Ry gu fo=ll 01 w8 & 1R BT TP U=
T B fore iAo B 1 aftfe @R
& 1% TP 59 BT TRA B TR T BT &7
(A) Immersing (B) Antibiotics
(C) Oxygen (D) Nitrogen
(fd@R SSC CGL & Tiem-21.01.2013)
25. (A) Immersing = Simmering &1 37} &
QM I GHY S g &b S
A G|

26. T 3w il 9 2res & o1eRi I gAiaRerd
X qMS F TR I a1 a2 1F
A §

(A) Largition (B) Selenium
(C) Newton (D) Engine
(fe=r SsC CGLH=H TRIeN—27.01.2013)

26. (A) Largition = Tailoring.

Tailoring T 1 & ‘Ryets’ |

qeeied | 3



27. U gy fof g & Rl P g weg uw 28 (D) S L E E P 29. T WY ¥ Us ER URafRdd axa gy
& fore grafaRem o S R @ qui J fore =g RO # e BLACK® B
RAT S| TWI1: S T E E P ‘SHARE’ # §gell ST Hadl 87 Tdd
(A) Harmony \l, IRaT & U W12l 2eg g1 A1y ?
(B) Gandhi TWI12: S T E E L (A) 4 (B) 3
(C) Percussion \L ©) 2 D) 6
(D) Nehru T3: S T E A L (RER SSC CGL w1 Te1—27.01.2013)

(feeR SSC CGL &= 1en—27.01.2013) \l/
. . 29. (A) B L A C K

27. (C) Percussion = Supersonic. TWUI4: S T E A M

Supersonic T 37 ¥ “IRTEAE " | \L =TT 1: S L A C K

28. ¥E ‘SLEEP’ @ ‘DREAM’ # S & TWI5: AT E A M J
Ty aMaeasd =gaH TR b T wl J wm2:s H A C K
BIT? 3TTTPT U FHY H U 37eR gRafld TWI6: A R E A M v
TR ¥ T T TR & T W I IS HA R |
I1eg FT ATMRY | WI7: D R E A M _T4:S H A R E
(A) 5 (B) 4 ¥ YBR, ‘SLEEP’ ® ‘DREAM’ & 39 YBR ‘BLACK’ @ ‘SHARE’
©) 6 D) 7 Taer & R = AT T # aqe & fov A wxon @

(fd@R SSC CGL =g adien—27.01.2013) et TITRT ¥ |

aa
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. Select the most appropriate option to fill

in the blank.

His of the topic was so good

that students had few doubts at the end

of the class.

(A) qualification (B) picturisation

(C) exposition (D) exhibition
[CGL Tier-I, 24-8-2021 (It Shift)]

. (C) R w9 § Exposition (N) &1
T Sfd B Exposition = EAT;
gfcrdTe |

3 fIe (C) T& B

. Select the most appropriate option to fill
in the blank.

The government has hardened its
against the agitators and imposed a curfew
in the area.
(A) stance (B) orientation
(C) bearing (D) manner

[CGL Tier-I, 23-8-2021 (I*' Shift)]

. (A) Raq ¥ # Stance (N) & TR
Ifad B | Stance = &S BN B T AT
seell
Iq: fadpeT (A) 98 & |
. Select the most appropriate option to fill
in the blank.
The invention of fertilisers and insecticides
has increased agricultural which
is required to feed the swelling population
of the world.
(A) output (B) product
(C) cargo (D) goods

[CGL Tier-1, 23-8-2021 (II1"¢ Shift)]

. (A) Red T 4 “Output’ (N) &1 G

SfId &1 Output = ST, SIS |

o 3 fadey (A) Fal B |

. The following sentence has been divided

into parts. One of them contains an error.

Select the part that contains the error from

the given options.

The Principal requested / the teacher’s/

to monitor / and take care of the small

children.

(A) The Principal requested

(B) the teacher’s

(C) to monitor

(D) and take care of the small children
[CGL Tier-1, 16-8-2021 (I** Shift)]

Noun

. (B) ‘The teacher's’ @I ST the teachers

B TIRT BRI, AP Principal q
A teacher | request &1 & ST
apostrophe('s) P NTLIHAT &1 & |
Ira: faweT (B) el &

. Select the most appropriate option to fill

in the blank.
I read some of properties for sale
on the Internet before I called the agent.
(A) descriptions (B) arguments
(C) monologues (D) spaces

[CGL Tier-1, 16-8-2021 (II"® Shift)]

. (A) Raa w29 9 “descriptions’ &1 TR

Sfed 2 |
o monologues = S{TH HINT IT T
TS

) spaces:W,W@Eﬁﬁﬁ}ﬂ
3 faweT (A) 98

. Select the most appropriate option to fill

in the blank.
Work and domestic
short-tempered.
(A) pressures (B) gravities
(C) weights (D) forces

[CGL Tier-I, 13-5-2021 (I* Shift)]

made Kajal

. (A) Ra ¥ # “pressures’ (N) 6T TR

SiEcA
q: fadwe (A) 98 T

. Select the most appropriate option to fill

in the blank.

The interviewer asked Gautam, “Can you

tell me what your in life are?”

(A) determinations  (B) frivolities

(C) trivialities (D) aspirations
[CGL Tier-I, 13-8-2021 (IT"? Shift)]

. (D) R ¥ # “aspirations (N) &7 GIRT

Sfd & | Aspiration = 3TTehTeT
rq: fawe (D) 98 B

. Select the most appropriate option to fill

in the blank.

The advanced nations face no population
problem since they were already settl-

ing down to zero growth in
population.

(A) scale (B) rate

(C) frequency (D) degree

[CGL Tier-I, 13-8-2021 (IIT"® Shift)]

8.

9.

9.

10.

10.

11.

11.

12.

(B) R T # “Rate’ (N) &1 TN S
8l
q: fddwey (B) 98 B
The following sentence has been
divided into parts. One of them contains
an error. Select the part that contains
the error from the given options.

The recruiters/were pleased/to John's/
domain knowledge and personality.

(A) The recruiters
(B) toJohn's
(C) domainknowledge and personality
(D) were pleased
[SSC CGL Tier-I, 16-08-2021 Shift-I11]

(B) to John’s @I & with John’s T
TIART BRI, dife  pleased with
somebody IT something &1 37}
T—
et SferT/aRg &1 I |

Select the most appropriate option to

fill in the blank.

My New Year's .......... is to think

positive always.

(A) resolution (B) repetition

(C) celebration (D) confession

[SSC CGL Tier-I, 16-08-2021 Shift-I1I]

(A)R&T %9 # resolution (N) @I
AN S & | Resolution = e,
gd, T4 |

Select the most appropriate option to
fill in the blank.

Social isolation, overcrowding, the
........... of our society and several other
factors are responsible for stress.

(A) competitiveness

(B) cheapness

(C) attractiveness

(D) affordability

[SSC CGL Tier-1, 17-08-2021 Shift-I]

(A)RET T § Competitiveness &l
TN SfId ¥ Competitiveness =
EISRIRRENIE

The following sentence has been
divided into parts. One of them contains
an error. Select the part that contains
the error from the given options.
Lalitha will go/to sister's house/in
Mumbai/this summer.

English | 1



(A) to sister's house

(B) in Mumbai

(C) Lalitha will go

(D) this summer

[SSC CGL Tier-I, 18-08-2021 Shift-I]

12. (A)to sister’s house @I SFIE to her
sister’s house &1 JART BRTT | I
possessive case ¥ FRI-ET _3’% 5l

13. Select the most appropriate option to
fill in the blank.

My neighbour was admitted to the
hospital when he developed an allergic
.............. to some medicine he took.

(A) retort (B) reaction
(C) rejoinder (D) result
[SSC CGL Tier-I, 20-08-2021 Shift-I]
13. (B) R eI # reaction &7 AT Sfad
& | Reaction =% fomam, garelf @
Th—gR IR RIS G491 |
14. The following sentence has been
divided into parts. One of them contains

an error. Select the part that contains
the error from the given options.

At the last meeting/which took place in

November/half the members submitted/

their resignations on protest.

(A) At the last meeting

(B) their resignations on a protest

(C) half the members submitted

(D) which took place in November
[SSC CGL Tier-I, 20-08-2021 Shift-II]

14. (B) their resignations on a protest @I
STTE their resignations in protest
T RN BT |

15. Select the most appropriate option to
fill in the blank.

In addition to understanding the specific
issue to be tackled, the sub-committee
examined the larger ............ on the
problem.
(A) proportion (B) perspective
(C) perception (D) prospective
[SSC CGL Tier-I, 20-08-2021 Shift-III]
15. (B)Ra<T T H “Perspective’ &1 GAT
S ¥ | Perspective = &%y |

16. Select the most appropriate option to
fill in the blank.

The worst possible ............... for human
society is that we will destroy ourselves
with nuclear weapons.

(A) perceptive (B) presentation
(C) prediction (D) privilege
[SSC CGL Tier-1, 24-08-2021 Shift-I1T]
16. (C)Ra TIM # prediction &1 FINT
Sfd ¥ Prediction = AfJsgaro,
3TH DI |
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17. In the sentence identify the segment
which contains the grammatical error.
Saraswati college has maintained its
reputation as one of the best college in
the country.

(A) Saraswati college has maintaind
(B) one of the best college
(C) its reputation as
(D) in the country
[ 371 3. oien.—19, (9.91.) 04-03-2020]
17. (B) One of the best college & M T
one of the best colleges BT Fifh
one of & & BALM plural count-
able noun T YT fHaT STl B

18. Select the most appropriate word to fill

in the blank.
The groom stood before the for
the wedding ceremony at the church.
(A) alter (B) altar
(C) atlas (D) attic
[} 34134 9¥ien.—19, (9.91.) 04-03-2020]
18. (B) Raw ¥H # altar (1721 &1
) TN & B |

19. Select the most appropriate word to fill

in the blank.
A reward is a .......... which motivates
a person to achieve excellence in his
field.
(A) memorial
(B) monument
(C) collection
(D) recognition
[\ 371 3 o¥ien.—~19, (fg11.) 04-03-2020]
19. (D) Raa o= # ¥e= recognition
(UETH, ATNSIE) BT GART HE
sl

20. Fill in the blank with the most
appropriate word.

She was loved by her employees for

(A) malevolence
(B) condolence
(C) benevolence
(D) insolence
[} 1.3 9¥ien.—19, (9.91.) 07-03-2020]

20. (C) fRad %I # benevolence (SR,
HelTE) BT JAIT |el &

21. Fill in the blank with the most
appropriate word.

The minister gave an........... that strict
action would be taken against the
culprits.

(A) ambition
(B) assurance
(C) insurance
(D) admission

[} 1.3 9¥ien.—19, (9.41.) 07-03-2020]

21. (B) Rad o9 # assurance (I,
fagarT, ¥RT) @1 T TE B |

22. Fill in the blank with the most
appropriate word.

There is a ......... growth of flowers in
tropical countries.
(A) plenty (B) pious

(C) powerful
[} 31 3 ¥en.—~19, (& a1.) 07-03-2020]
22. (D) Rad ¥ ¥ luxuriant (BAYS) BT
TR A8 BT |

23. Fill in the blank with the most
appropriate word.
Your demands are bound to lead to
in the family.
(A) discord (B) barrier
(C) absence (D) decrease
[AFR Y19, (9.41.) 09-03-2020]
23. (A) Red w9 #  discord (P,
ST BT YART BT |

24. Select the most appropriate option to
fill in the blank.
My cousin's study on the reading habits
of school children across three states
has been recognised as a.....piece of
research.

(D) luxuriant

(A) pioneering (B) negligent
(C) useless (D) proud
[[.F131.9.-19, (g T1.) 09-03-2020]
24. (A) Ra< ¥ ¥ pioneering (SRIUN) &1
SRANT X7 B |

25. Select the most appropriate word to fill in
the blank.
Around sixty bands in colourful
took part in the Notting Hill Carnival.
(A) apparels (B) dressing
(C) clothings (D) costumes
TA.TH AL AT, 04-06-2019
(ferfra rei)
25. (D) ‘Costumes’ (4T, GREM) is a
set of clothes in a style typical of
a parti-cular country or historical
period.
26. Select the most appropriate word to fill in
the blank.

Talgo, a Spanish company is one of the
major of intercity, standard, and
high speed passenger trains.
(B) builders
(C) creators (D) manufacturers
Ta.TE AL A Td. 07-06-2019
(w2 Trelt)
26. (D) Manufacturers will be used in the
given blank.

(A) constructors



27. Select the most appropriate word to fill in
the blank.
A number of Indian goods face a
competition from Chinese goods in terms
of prices and looks.
(A) bold (B) angry
(C) powerful (D) fierce

.o AL AN T, 4-6-2019

(et et
27. (D) 'Fierce' (&, HI®R) stands for
difficult. Fierce competition often
provokes a rush to judgement, a
sense of perpetual crisis, etc.
28. Select the most appropriate option to fill
in the blank.
When you want to expand your vocabulary
the best thing to do is to relate a known
word with an one and guess the
meaning from the context.
(A) unnecessary
(C) essential (D) unclear
A, WS, (daa-1)
12-6-2019 (&< areit)

28. (B) Unfamiliar means not known to

(B) unfamiliar

you.
29. Select the most appropriate option to fill
in the blank.
A colourful cyclothon was organised on
the of World Sparrow Day to mark
the progress of making Ganjam the first
sparrow-friendly district of Odisha.
(A) occasion (B) festivity
(C) event (D) project
T /. W Shgd. (dae-1)
19-6-2019 (i 9Tl
29. (A) The word 'occasion' means a
particular time, especially when
something happens or has hap-
pened. It is a special or formal
event.
30. Select the most appropriate option to fill
in the blank.
Charles Dickens was different in his style
of writing from most of his in the
Victorian era.
(A) cronies (B) confidants
(C) critics (D) contemporaries

TN A S, (Faa-1)
10-06-2019 (92 TTell)
30. (D) The word 'contemporary' means
belonging to the same or a stated
period in the past
31. Select the most appropriate word to fill in
the blank.
There is hope that better forestry manage-
ment will help in the of the wild

life that is constantly facing threat because
of increasing human activities.
(A) guarding (B) supervision
(C) salvation (D) conservation
1 50 .gd. (I9Ue o) (dae-1)
06-06-2019 (92 dTe )
31. (D) The word 'conservation' (SF<&ToT)
stands for the protection of
plants and animals, netural areas
and interesting and important
structures and buildings especially
from the damaging effects of
human activity.
32. Select the most appropriate word to fill in
the blank.
The company management is of the
opinion that not wearing a suit and tie at
the workplace could create a bad

on clients.
(A) impression  (B) response
(C) notion (D) outlook

TATa . A sid. 7-6-2019
(ferTra aremt)
32. (A) The word impression stands for
the way that something seems,
looks, or feels to a particular per-
son.

33. Select the most appropriate option to fill
in the blank.

In many countries the in pay for
men and women is quite common, for
example, in Germany women are paid 21
percent less as compared to men.
(A) disagreement (B) disparity
(C) unlikeliness (D) equivalence
T N, ST, (SaR-1)
06-06-2019 (f&<r arett)
33. (B) The word disparity (STFHT,
faYHAT) means a lack of equality
or similarity, especially in a way
that is not fair.
34. Select the most appropriate option to fill
in the blank.
Catholics and Protestants have a long
history of in Northern Ireland but
volunteers from both communities came
together to build the monument of peace.
(A) conflict (B) truce
(C) agreement (D) contest
TTE . ST, (SR-1)
06-06-2019 (fg<r aret)
34. (A) The word 'conflict' stands for
an active disagreement between
people with opposing opinions or
principles.

Direction (Q. No. 35 and 36 )

The letter of that part is the answer. If there
is no error then your answer is (D) i.e. ‘No
Error.”
35. My sister-in-laws (A)/ who live in Kolkata
(B)/ have come to stay with us. (C)/ No

Error. (D)
(A) A (B)B
©ocC D)D

[SSC CGL ue, 05-08-2017 (FIrg uret )|
35. (A) Compound noun sister-in-law T
Plural 8T—sisters-in-law.
3c: JBI My sisters-in-law.... BT

AR Sy B |

36. Inspite of the doctor’s stern warning (A)
Latika continued taking (B)/ sugars in
her milk.(C)/ No Error. (D)
(A) A (B) B
©C (D) D

[SSC CGL wyet, 10-08-2017 (f&<ir urei)]

36. (C) Uncountable nouns have no
plurals and cannot generally be
used with a/an. So replace sugars
by sugar.

Direction (Q. No. 37 to 46)

In the following questions, the sentence given
with blank to be filled in with an appropriate
word. Select the correct alternative out of
the four and indicate it by selecting the ap-
propriate option.

37. Bothtaciturnand........... , Daniel seldom
spoke and never spent money.
(A) wary (B) cheap

(C) discreet

[SSC CGL UteTT, 16-08-2017 (9™ Urell )|
37. (D) The blank should be appropriately
filled by 'miserly.'

(D) miserly

38. The shepherd guarded a large ........... of
sheep and allowed them to move from
pasture to pasture.

(A) block (B) culture
(C) shoal (D) flock

[SSC CGL Tiet, 17-08-2017 (WerH uTeil)]

38. (D) The blank should be appropriately

filled by 'flock.'

39. The criminal changed his name to an
............. in order to elude the police.
(A) alternative (B) alias
(C) option (D) untrue

[SSC CGL Ttet, 18-08-2017 (WerH dTeit )|

39. (B) The blank should be appropriately

filled by 'alias.'

40. Seventeen students were needed for a

............ in order to discuss the topics
during the Student Council meeting.

(A) decorum (B) quota
(C) quorum (D) quote

[SSC CGL ue, 18-08-2017 (g urel )|
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40. (C) Replace ‘do soul’ by ‘Soil’, to soil
means to make dirty e.g.
Do not sail your clothes when
you play cricket.

41. After missing four days of school due to a
............. of flu, Babita struggled to make
up for her missing work.

(A) bout (B) about
(C) amount (D) array
[SSC CGL wtet, 19-08-2017 (&< urel)|

41. (A) The blank should be appropriately
filled by 'bout.'

42. Our nation’s ............... into another
country’s war could pull us into the crisis.

(A) intervention
(B) intention
(C) perfection
(D) invention
[SSC CGL utet, 19-08-2017 (i uret )]
42. (A) The blank should be appropriately
filled by 'intervention.'

43. As a fitness .......... , Deepti is always
preaching to her friends about the
importance of working out.

(B) enthusiast

(D) enthusiastically

(A) enthusiasm
(C) enthusiastic

[SSC CGL utat, 19-08-2017 (<ird Treh )|

43. (B) The blank should be appropriately
filled by 'enthusiast.'

44. The ........... "pretty ugly" implies that
a person can be both attractive and
unattractive at the same time.

(A) simile
(C) alliteration

(B) metaphor

(D) oxymoron

[SSC CGL e, 21-08-2017 (W2 uTeit)]

44. (D) The blank should be appropriately
filled by 'oxymoron.'

45. The president’s coterie of advisers was
unable to offer him a ............ to the
national problem.

(A) solvent (B) solute
(C) solution (D) mixture
[SSC CGL et 23-08-2017 (f&<ir urei))
45. (C) The blank should be appropriately
filled by 'solution.' THTE

46. Since my father was an ............ from
India, he brought his Indian culture and
traditions to the United States with him.

(A) emigrant (B) immigrant
(C) native (D) citizen
[SSC CGL utet, 23-08-2017 (e uret )|
46. (B) The blank should be appropriately
filled by 'immigrant.’ YA |
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47. In the following question, one part of
the sentence may have an error. Find out
which part of the sentence has an error and
click the button corresponding to it. If the
sentence is free from error, click the “No
Error” option.

All my hope (A) / were duped (B) / and
I was plunged in deep sorrow. (C) / No
Error (D)
(A) A (B) B
© C D) D

[SSC CGL 9R¥eT, 06-09-2016 (9erH drel )]

47. (A) ‘hope’ @ A TR ‘hopes’ (Plural)
BT YA B |

48. In the following question, one part of
the sentence may have an error. Find out
which part of the sentence has an error
and click the button corresponding to it.
If the sentence is free from error, click
the "No Error" option.
The book, being written (A) / in simple
language, is suitable for children (B) / as
it contains many good advices. (C) / No

Error (D)
(A) A (B) B
©) C (D) D

[SSC CGL e, 03-09-2016 (Jeig reit )]

48. (C) advices ® I WX advice BT AN
BN | IS §9@ plural 37ef BT TIT
et ¥ phrase & ST
U R GH §; oNI— A few

pieces of advice.

49. In the following question, one part of
the sentence may have an error. Find out
which part of the sentence has an error
and click the button corresponding to it.
If the sentence is free from error, click
the "No Error" option.

Every conceivable race and nationality(A)/
had its shared of suffering(B) / in the
world wars (C)/No Error(D).
(A) A (B) B
(ONE (D) D
[SSC CGL e, 01-09-2016 (J<ig reit )]
49. (B) "Every conceivable race and na-
tionality had its share of suffering
in the world wars."

YTEIT—T&! had, have &7 Verb (1)
form ¥, SHfTY share (N) BRI |

50. The sentences given with blanks are to
be filled with an appropriate word(s).
Four alternatives are suggested for each
question. For each question, choose the
correct alternative and click the button
corresponding to it.

There was a serious between the two
brothers.

(B) alteration
(C) aberration (D) altieration
[SSC CGL Tet, 01-09-2016 (92 Trell )]
50. (A) altercation — (fqars;) &8 faweq
gl
alteration — ¥<Ild;
aberration — 3THMII;
altieration — (I8 ¥1&x Dictionary H )
R
51. In the following question, one part of
the sentence may have an error. Find out
which part of the sentence has an error
and click the button corresponding to it.

If the sentence is free from error, click
the "No Error" option.

He learnt (A) / the alphabets (B) / at the
age of four. (C) / No Error (D)

(A) A (B) B
©) C (D) D
[SSC CGL T, 30-08-2016 (Jir dTedt)]

51. (B) the alphabets & %I UX alphabet
— qUTHTEAT BT YR BT |

52. The sentences given with blanks are to
be filled with an appropriate word (s) .
Four alternatives are suggested for each
question. For each question, choose the
correct alternative and click the button
corresponding to it.

(A) altercation

The aim of a Peace Council is rather

than cure.

(A) salvation (B) preservation

(C) maintenance (D) cultivation

[SSC CGL Tyet, 29-08-2016 (2 Urell )]
52. (B) H=EvT | SIifc UReq 1 See et
P IoIT HRETUT ¥ | 37T: fawed (B)

SRS

salvation — gfad
maintenance — XE—XHA
cultivation — SHf

53. The sentences given with blanks are to
be filled with an appropriate word (s).
Four alternatives are suggested for each
question. For each question, choose the
correct alternative and click the button
corresponding to it.
Harish soon gained in English.

(A) provincialism (B) proficiency
(C) efficiency
[SSC CGL T, 29-08-2016 (U2 uret )]

53. (B) provincialism — Feprofar

(D) eminency

proficiency — (I&rT/Mguran)
w8 fadweg B
efficiency — wRI&Ha



eminency — Ha T 54. (D) assured (V) ST¥aTE <A1 6T YA 56. If you have roses growing in your garden,

(eminence) ISP ¥ you can make alovely .............. of flowers
) . . . at home.
Note : Eminency PT use 39 55. In India (A)/working woman lead a life
Modern English % &l & | of dual responsibilities (B)/if they are (A) bouqutte (B) bucquete
54. The sentences given with blanks are o married and have a family (C)/No error (C) bouquete (D) bouquet
be filled with an appropriate word(s). (D). [SSC CGL Tier-1 gief, 21-04-2013
Four alternatives are suggested for each [SSC CGL Tier-1 9i&1 21-04-2013 &. )]
question. For each question, choose the (Fg; tn_)] .
correct alternative and click the button 56. (D) R T H bouquet BT N AT
corresponding to it. 55. (B) woman @ I I women &l 1T T
The passengers were afraid but the BT ifeh AT ¥ g A woman bouquet : a bunch of flowers
captain .................. them that there was BT Y ‘@r Nal % | arranged in an attractive way :
no danger. 31d: working women lead a life of (T[eTaT)
(A) suggested (B) pleaded dual reponsibilities BT TR Ifrd
(C) advise (D) assured 5 Qo

[SSC CGL e, 28-08-2016 (i Tredl )]
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